The following specification is intended to clarify the work scope and form a reference for the programmer to work to. 
The inputs 
The Algorithms 
The inputs table 


	Input
	Type
	Default value

	Name
	
	forty2

	License
	
	mmrsdk11

	Magic
	
	77777

	Trade direction
	Toggle 
	buy

	First lot 
	number to 2 decimal places 
	0.10

	Number of first lot sized trades 
	Whole number
	2

	Multi
	input
	1.7

	Step
	Input
	20

	TakeProfit
	number
	7

	M factor
	number to 2 decimal places
	1.25

	Slippage
	number 
	4

	MaxOrders 
	number
	10

	Hours of trading
	toggle
	FALSE

	From
	time hh:mm
	00:00

	To 
	time hh:mm
	24:00:00

	Close all Time
	True False
	toggle

	Time to close all trades in the day
	Time HH:MM
	00:00

	Close all Days
	Days to act on Close all time  1,2,3,4,5
	5= Friday close

	SafeEquity stop 
	true false 
	TRUE

	SafeEquityRisk
	% of pot
	50



General 
The EA is designed to work by a bespoke process we discovered. The principle is each chart works in only one direction and the chart trades the M1 timeframe directly the EA is activated. The first trade is set to TP at the Take profit value in the inputs table – default 7. 
Once this has set off the EA will either return the 7 pips at the default lot size also set in the inputs table. 
OR
It will start a losing run – if the losses exceed the step value in the input table (default 20) then it will open a second trade in the only direction it is allowed to trade in and it will have a series of values for the lot size as outlined in the table below. The associated take profit should be calculated automatically by the algorithm below the table. 




For lot size reference set at 1.7 multi

	Trade #
	Lot size

	1
	0.10 

	2
	0.10 

	3
	0.17 

	4
	0.29 

	5
	0.49 

	6
	0.84 

	7
	1.42 

	8
	2.41 

	9
	4.10 

	10
	6.98 

	11
	11.86 

	12
	20.16 

	13
	34.27 

	14
	58.26 

	15
	99.05 




Algorithms – the purpose of the algorithm is to calculate the TP at which to close all the open trades on a given Chart
The setting should allow TP pips of profit to be realised on top of closing out all the losses already accrued in the sequence of trades.

Variables used - The cumulative lot sizes used plus in open trades 
Lots are valued at $10 per 1.0 lot 
The proposed trade lot size is calculated as the Multiplier input times the initial lot size – default 0.1 and should follow in the sequence of the table above
 
So in words  

The first trade opens at the initial lot size and is given the TP pips of the TP input + the open price. 

The second trade opens (step) pips If first trade goes in the wrong direction by (STEP) pips and at the lot size same as the first trade.

The TP of both trades is changed to recoup the losses of the first trade already and to add the TP of the initial input. The calculation is as follows 
(Losses at of the first and second trade at second trade opening price / (total lots in operation * 10 )) + the TP from the input table

The third trade opens (step) pips If second trade goes in the wrong direction by (STEP) from the second trade and at the lot size next in sequence which should be same as the first trade times the (multi) in the input.



The TP of all three open trades is now changed to recoup the losses of the first trade and the second trade at this open price and to add the TP of the initial input. The calculation is as follows 
(Losses at of the first and second trade at second trade opening price at their respective lot sizes / (total lots in operation * 10 )) + the TP from the input table.

next TP = open price of the new trade + (Cum losses so far in pips per lot + Target Profit “default 7 pips” ) * M factor / cumulative lots in play including this trade we are opening.  

Here is a worked example with numbers ………..and below this is the formula auditing layout of the same sheet.

	Step
	20
	
	
	
	
	

	Sell
	 
	 
	 
	 
	 
	 

	 
	 
	 
	1234
	1254
	1274
	1294

	 
	open
	stake
	 
	 
	 
	 

	trade 1
	1234
	10
	 
	-200
	-400
	-600

	trade 2
	1254
	15
	 
	 
	-300
	-600

	trade 3
	1274
	20
	 
	 
	 
	-400

	trade 4
	1294
	25
	 
	 
	 
	 

	 
	 
	 
	 
	1239
	1251.444
	1264.143

	 
	 
	 
	 
	8
	15.55556
	22.85714

	Profit
	7
	 
	 
	15
	22.55556
	29.85714

	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	375
	1015
	2090

	 
	 
	 
	 
	 
	 
	 

	Bottom Line
	3480
	 
	 
	 
	 




	
	B
	C
	D
	E
	F
	G
	H

	2
	Step
	20
	
	
	
	
	

	3
	Sell
	 
	 
	 
	 
	 
	 

	4
	 
	 
	 
	1234
	1254
	1274
	1294

	5
	 
	open
	stake
	 
	 
	 
	 

	6
	trade 1
	1234
	10
	 
	=D6*(C6-C7)
	=-D6*(C8-C6)
	=-D6*(C9-C6)

	7
	trade 2
	=C6+$C$2
	15
	 
	 
	=-D7*(C8-C7)
	=-D7*(C9-C7)

	8
	trade 3
	=C7+$C$2
	20
	 
	 
	 
	=-D8*(C9-C8)

	9
	trade 4
	=C8+$C$2
	25
	 
	 
	 
	 

	10
	 
	 
	 
	 
	=F4-F12
	=G4-G12
	=H4-H12

	11
	 
	 
	 
	 
	=-F6/(D6+D7)
	=-(G6+G7)/(D6+D7+D8)
	=-(H6+H7+H8)/(D6+D7+D8+D9)

	12
	Profit
	7
	 
	 
	=F11+C12
	=G11+C12
	=H11+C12

	13
	 
	 
	 
	 
	 
	 
	 

	14
	 
	 
	 
	 
	=SUM(D6:D7)*(F12)
	=SUM(D6:D8)*(G12)
	=SUM(D6:D9)*(H12)

	15
	 
	 
	 
	 
	 
	 
	 

	16
	Bottom Line
	 
	=SUM(F14:H14)
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